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Para obtener el
33.33% solo

divide entre 3
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Y para obtener
el 12.5% solo

divide entre 8

Observa

Por eso para
obtener el 10% solo
dividimos entre 10



1
8

1
8

12.5%

25%

1
3

1
2

1
3

1
3

1
2

1
4

1
5

1
10

1
20

1
8

12.5%

1
8

12.5%

1
8

12.5%

1
8

12.5%

1
8

12.5%

1
8

12.5%

25%

1
4

1
5

20%

1
5

20%

1
5

20%

1
5

20%

25%

1
4

25%

1
4

10%
1

10

10%
1

10

10%
1

10

10%
1

10

10%
1

10

10%
1

10

10%
1

10

10%
1

10

10%
1

10

5% 1
20

5% 1
20

5% 1
20

5% 1
20

5% 1
20

5% 1
20

5% 1
20

5% 1
20

5% 1
20

5% 1
20

5% 1
20

5% 1
20

5% 1
20

5% 1
20

5% 1
20

5% 1
20

5% 1
20 5% 1

20 5% 1
20

33.33% 33.33% 33.33%

50%100%

1
50%

12.5%

20%

10% 5%

Porciento %
M

at
em

át
ic

as
 T

am
ay

o

Para obtener el
33.33% solo

divide entre 3

Y para obtener
el 12.5% solo

divide entre 8

Observa

Por eso para
obtener el 10% solo
dividimos entre 10


